
CHEMISTRY

BOOKS - U-LIKE CHEMISTRY (HINGLISH)

CHEMICAL REACTIONS AND EQUATIONS

N C E R T Questions

1. Why should a magnesium ribbon be cleaned before burning in air ?

View Text Solution

2. Write the balnced equation for the following chemical reactions : 

Hydrogen + Chlorine  Hydrogen chloride

View Text Solution

→

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dRuTwsBHo5Bn
https://dl.doubtnut.com/l/_bCgGscaXo615
https://dl.doubtnut.com/l/_YAXOu6AByaDG


3. Write the balnced equation for the following chemical reactions : 

+ Aluminium sulphate  Barium sulphate + Aluminium chloride

View Text Solution

→

4. Write the balnced equation for the following chemical reactions : 

 Sodium hydroxide + Hydrogen.

View Text Solution

→

5. Write a balanced chemical equation with state symbols for the

following reactions : 

Solutions of barium chloride and sodium suphate in water react to give

insoluble barium sulphate and the solution of sodium chloride.

View Text Solution

https://dl.doubtnut.com/l/_YAXOu6AByaDG
https://dl.doubtnut.com/l/_i2ohmZ3OqflK
https://dl.doubtnut.com/l/_X9StEJFe479d


6. Write a balanced chemical equation with state symbols for the

following reactions : 

roxide solution (in water) reacts with hydrochloric acid solution (in water)

to produce sodium chloride solution and water.

View Text Solution

7. A solution of a substance 'X' is used for white washing. 

bstance 'X' and write its formula.

View Text Solution

8. A solution of a substance 'X' is used for white washing. 

eaction of the substance 'X' named in (i) above with water.

View Text Solution

https://dl.doubtnut.com/l/_ZgRvtM2ati2V
https://dl.doubtnut.com/l/_u3XO0VvdSQfK
https://dl.doubtnut.com/l/_Lpb7JJqRXVAN


9. Why is the amount of gas collected in one of the test tubes in Activity 5

double of the amount collected in the other ? Name this gas.

View Text Solution

10. Why does the colour of copper sulphate solution change when an iron

nail is dipped in it ?

View Text Solution

11. Give an example of a double displacement reaction other than the one

given in Activity 8.

View Text Solution

12. Identify the substances that are oxidised and the substances that are

reduced in the following reactions : 

https://dl.doubtnut.com/l/_d1YwMCmMtvUu
https://dl.doubtnut.com/l/_hgCu3LywRqEO
https://dl.doubtnut.com/l/_e5Yo2v6UHDik
https://dl.doubtnut.com/l/_SMZ2x4JnOUes


N C E R T Exercises

View Text Solution

4Na(s) + O2(g) → 2Na2O(s)

13. Identify the substances that are oxidised and the substances that are

reduced in the following reactions : 

View Text Solution

CuO(s) + H2(g) → Cu(s) + H2O(l)

1. Which of the statements about the reaction below are incorrect ? 

 


Lead is getting reduced.

View Text Solution

2PbO(s) + C(s) → 2Pb(s) + CO2(g)

https://dl.doubtnut.com/l/_SMZ2x4JnOUes
https://dl.doubtnut.com/l/_qT5dKx5kfVq6
https://dl.doubtnut.com/l/_zoXvWOo1Ok4D


2. Which of the statements about the reaction below are incorrect ? 

 


Carbon dioxide is getting oxidised.

View Text Solution

2PbO(s) + C(s) → 2Pb(s) + CO2(g)

3. Which of the statements about the reaction below are incorrect ? 

 


Carbon is getting oxidised.

View Text Solution

2PbO(s) + C(s) → 2Pb(s) + CO2(g)

4. Which of the statements about the reaction below are incorrect ? 

 


Lead oxide is getting reduced. 

(i) (a) and (b) (ii) (a) and (c ) 

(iii) (a), (b) and (c ) (iv) All.

View Text Solution

2PbO(s) + C(s) → 2Pb(s) + CO2(g)

https://dl.doubtnut.com/l/_7Lt0yG701Eab
https://dl.doubtnut.com/l/_momvzrPk1lSj
https://dl.doubtnut.com/l/_zyfChahJRBbW


View Text Solution

5.  


The above reaction is an example of a

A. combination reaction.

B. double displacement reaction.

C. decomposition reaction.

D. displacement reaction.

Answer: D

View Text Solution

Fe2O3 + 2Al → Al2O3 + 2Fe

6. What happens when dilute hydrochloric acid is added to iron filling ?

Tick the correct answer.

A. Hydrogen gas and iron chloride are produced.

B. Chlorine gas and iron hydroxide are produced.

https://dl.doubtnut.com/l/_zyfChahJRBbW
https://dl.doubtnut.com/l/_79B8d4eHHWUd
https://dl.doubtnut.com/l/_G2y5pk7mnQcZ


C. No reaction takes place.

D. Iron salt and watr are produced.

Answer: A

View Text Solution

7. What is a balanced chemical equation ? Why should chemical equations

be balanced ?

View Text Solution

8. Translate the following statements into chemical equations and then

balance them : 

Hydrogen gas combines with nitrogen to form ammonia.

View Text Solution

https://dl.doubtnut.com/l/_G2y5pk7mnQcZ
https://dl.doubtnut.com/l/_TokTj8wGVuQo
https://dl.doubtnut.com/l/_yTEfsh4LdOru


9. Translate the following statements into chemical equations and then

balance them : 

Hydrogen sulphide gas burns in air to give water and sulphur dioxide.

View Text Solution

10. Translate the following statements into chemical equations and then

balance them : 

Barium chloride reacts with aluminium sulphate to give aluminium

chloride and a precipitate of barium sulphate.

View Text Solution

11. Translate the following statements into chemical equations and then

balance them : 

Potassium metal reacts with water to give potassium hydroxide and

hydrogen gas.

View Text Solution

https://dl.doubtnut.com/l/_28jy8AcbquGw
https://dl.doubtnut.com/l/_ZmxAYNVfSIAI
https://dl.doubtnut.com/l/_ryIXttDGuUxQ


View Text Solution

12. Balance the following chemical equations : 

View Text Solution

HNO3 + Ca(OH)2 → Ca(NO3)2 + H2O

13. Balance the following chemical equations : 

View Text Solution

NaOH + H2SO4 → NaSO4 + H2O

14. Balance the following chemical equations : 

View Text Solution

NaCl + AgNO3 → AgCl + NaNO3

https://dl.doubtnut.com/l/_ryIXttDGuUxQ
https://dl.doubtnut.com/l/_MEntdfmPFg6X
https://dl.doubtnut.com/l/_KQxFrXTNLIIz
https://dl.doubtnut.com/l/_vHWjCmxBUOiV


15. Balance the following chemical equations : 

View Text Solution

BaCl2 + H2SO4 → BaSO4 + HCl

16. Write the balanced chemical equations for the following reactions : 

Calcium hydroxide + Carbon dioxide  Calcium carbonate + Water

View Text Solution

→

17. Write the balanced chemical equations for the following reactions : 

Zinc + Silver nitrate  zinc nitrate + Silver

View Text Solution

→

18. Write the balanced chemical equations for the following reactions : 

Amuminium + Copper chloride  Aluminium chloride + Copper→

https://dl.doubtnut.com/l/_qrJBoTxKydJF
https://dl.doubtnut.com/l/_F0mGPUiJOQYE
https://dl.doubtnut.com/l/_LHTD2LX5qVgV
https://dl.doubtnut.com/l/_AQ5gbMYQ4WtE


View Text Solution

19. Write the balanced chemical equations for the following reactions : 

Barium chloride + Potassium sulphate  Barium sulphate + Potassium

chloride

View Text Solution

→

20. Write the balanced chemical equation for the following and identify

the type of reaction in each case : 

Potassium bromide (aq) + Barium iodide (a)  Potassium iodide (aq) +

Barium bromide (s)

View Text Solution

→

21. Write the balanced chemical equation for the following and identify

the type of reaction in each case : 

Zinc carbonate (s)  Zinc oxide (s) + Carbon dioxide (g)→

https://dl.doubtnut.com/l/_AQ5gbMYQ4WtE
https://dl.doubtnut.com/l/_mnKlIgsPRWb7
https://dl.doubtnut.com/l/_hJRPs5c8wUXS
https://dl.doubtnut.com/l/_LeaGpeNKskxw


View Text Solution

22. Write the balanced chemical equation for the following and identify

the type of reaction in each case : 

Hydrogen (g) + Chlorine (g)  Hydrogen chloride (g)

View Text Solution

→

23. Write the balanced chemical equation for the following and identify

the type of reaction in each case : 

Magnesium (s) + Hydrochloric acid (aq)  Magnesium chloride (aq) +

Hydrogen (g)

View Text Solution

→

24. What does one mean by exothermic and endothermic reactions ? Give

examples.

Vi T t S l ti

https://dl.doubtnut.com/l/_LeaGpeNKskxw
https://dl.doubtnut.com/l/_gXXXPkKA670s
https://dl.doubtnut.com/l/_eNWYinFrminO
https://dl.doubtnut.com/l/_RobboLv76fYg


View Text Solution

25. Why is repiration considered an exothermic reaction ? Explain.

View Text Solution

26. Why are decomposition reactions called the opposite of combination

reactions ? Write equations for these reactions.

View Text Solution

27. Write one equation each for decomposition reactions where energy is

supplied in the form of heat, light or electricity.

View Text Solution

28. What is the difference between displacement and double

displacement reactions ? Write equations for these reactions.

https://dl.doubtnut.com/l/_RobboLv76fYg
https://dl.doubtnut.com/l/_QBnj2ygu8whq
https://dl.doubtnut.com/l/_wRRVUEiqrrcv
https://dl.doubtnut.com/l/_kb70FnTCOqb3
https://dl.doubtnut.com/l/_pE6AnVD6JW4p


View Text Solution

29. In the refining of silver, the recovery of silver nitrate solution involved

displacement by copper metal. Write down the reaction involved.

View Text Solution

30. What do you mean by a precipitation reaction ? Explain by giving

examples.

View Text Solution

31. Explain the following in terms of gain or loss of oxygen with two

examples each : 

Oxidation

View Text Solution

https://dl.doubtnut.com/l/_pE6AnVD6JW4p
https://dl.doubtnut.com/l/_ba7HsE7X6fz4
https://dl.doubtnut.com/l/_a3dw4QMPPxzP
https://dl.doubtnut.com/l/_uA2vHTtl17k6
https://dl.doubtnut.com/l/_l1gmhliUgvjd


32. Explain the following in terms of gain or loss of oxygen with two

examples each : 

Reduction

View Text Solution

33. A shiny brown coloured element 'X' on heating in air becomes black in

colour. Name the element 'X' and the black coloured compound formed.

View Text Solution

34. Why do we apply paint on iron articles ?

View Text Solution

35. Oil and fat containing food items are flushed with nitrogen. Why ?

View Text Solution

https://dl.doubtnut.com/l/_l1gmhliUgvjd
https://dl.doubtnut.com/l/_2smPyMslaW0e
https://dl.doubtnut.com/l/_z3atx6ucFubk
https://dl.doubtnut.com/l/_eutxY66udQn4


Case Based Source Based Integrated Questions

36. Explain the following terms with one example each : 

Corrosion

View Text Solution

37. Explain the following terms with one example each : 

Rancidity

View Text Solution

1. Answer question number (a) - (d) on the basis of your understanding of

the following paragraphand related studied concepts. 

We all know that we need energy to stay alive. We get this energy from

the food we eat. During digestion, food is broken down into simpler

substances. For example, rice, potatoes and bread contain carbohydrates.

These carbohydrates are broken down to form glucose. This glucose

https://dl.doubtnut.com/l/_DrBFkgwyEFQx
https://dl.doubtnut.com/l/_GE4SsOfK3Yxk
https://dl.doubtnut.com/l/_adAAVqJkIPqZ


combines with oxygen in the cells of our body and provides energy. The

special name of this reaction is respiration. 

 


Where do we get energy for our normal functioning ?

View Text Solution

C6H12O6
(Glucose)

(aq) + 6O2(aq) → 6CO2(aq) + 6H2O(l) + Energy

2. Answer question number (a) - (d) on the basis of your understanding of

the following paragraphand related studied concepts. 

We all know that we need energy to stay alive. We get this energy from

the food we eat. During digestion, food is broken down into simpler

substances. For example, rice, potatoes and bread contain carbohydrates.

These carbohydrates are broken down to form glucose. This glucose

combines with oxygen in the cells of our body and provides energy. The

special name of this reaction is respiration. 

 


Name some foods that come under the catelory of carbohydrates.

View Text Solution

C6H12O6
(Glucose)

(aq) + 6O2(aq) → 6CO2(aq) + 6H2O(l) + Energy

https://dl.doubtnut.com/l/_adAAVqJkIPqZ
https://dl.doubtnut.com/l/_LD9KUQGCT2LY


3. Answer question number (a) - (d) on the basis of your understanding of

the following paragraphand related studied concepts. 

We all know that we need energy to stay alive. We get this energy from

the food we eat. During digestion, food is broken down into simpler

substances. For example, rice, potatoes and bread contain carbohydrates.

These carbohydrates are broken down to form glucose. This glucose

combines with oxygen in the cells of our body and provides energy. The

special name of this reaction is respiration. 

 


What is the end product of breaking of carbohydrates ?

View Text Solution

C6H12O6
(Glucose)

(aq) + 6O2(aq) → 6CO2(aq) + 6H2O(l) + Energy

4. Answer question number (a) - (d) on the basis of your understanding of

the following paragraphand related studied concepts. 

We all know that we need energy to stay alive. We get this energy from

the food we eat. During digestion, food is broken down into simpler

substances. For example, rice, potatoes and bread contain carbohydrates.

https://dl.doubtnut.com/l/_EoRgLDtWM66U
https://dl.doubtnut.com/l/_Fqzh2EhgKcL5


These carbohydrates are broken down to form glucose. This glucose

combines with oxygen in the cells of our body and provides energy. The

special name of this reaction is respiration. 

 


How much end  and  are produced when 90 g of glucose is

decomposed

View Text Solution

C6H12O6
(Glucose)

(aq) + 6O2(aq) → 6CO2(aq) + 6H2O(l) + Energy

CO2 H2O

5. Answer question numbers (a) - (d) on the basis of your understanding

of the following paragraph and related studied concepts. 

Green colour of ferrous sulphate crystals changes on heating.Also the

smell of characteristic odour of burning sulphur is felt. 

 


In this reaction, you can observe that a single reactant breaks down to

give simpler products. This is a decomposition reaction. Ferrous sulphate

crystals  lose water when heated and the colour of the

crystals changes. It then decomposes to ferric oxide , sulphur

dioxide  and sulphur trioxide . Ferric oxide is a solid, while 

2FeSO4(s)
Heat

−−→ Fe2O3(s) + SO2(g) + SO3(g)

(FeSO4.7H2O)

(Fe2O3)

(SO2) (SO3)

https://dl.doubtnut.com/l/_Fqzh2EhgKcL5
https://dl.doubtnut.com/l/_haLlgVaoWzQ6


 and  are gases. Decomposition of calcium carbonate to calcium

oxide and carbon dioxide on heating is an important decomposition

reaction used in various industries. Calcium oxide is called lime or quick

lime. It has many uses -one is in the manufacture of cement. When a

decomposition reaction is carried out by heating, it is called thermal

decomposition. 

 

What is meant by a decomposition reaction ?

View Text Solution

SO2 SO3

CaCO3
(Limestone)

(s)
Heat

−−→ CaO(s)
(Quick lime)

+ CO2(g)

6. Answer question numbers (a) - (d) on the basis of your understanding

of the following paragraph and related studied concepts. 

Green colour of ferrous sulphate crystals changes on heating.Also the

smell of characteristic odour of burning sulphur is felt. 

 


In this reaction, you can observe that a single reactant breaks down to

give simpler products. This is a decomposition reaction. Ferrous sulphate

crystals  lose water when heated and the colour of the

2FeSO4(s)
Heat

−−→ Fe2O3(s) + SO2(g) + SO3(g)

(FeSO4.7H2O)

https://dl.doubtnut.com/l/_haLlgVaoWzQ6
https://dl.doubtnut.com/l/_nNjUsT37BhGN


crystals changes. It then decomposes to ferric oxide , sulphur

dioxide  and sulphur trioxide . Ferric oxide is a solid, while 

 and  are gases. Decomposition of calcium carbonate to calcium

oxide and carbon dioxide on heating is an important decomposition

reaction used in various industries. Calcium oxide is called lime or quick

lime. It has many uses -one is in the manufacture of cement. When a

decomposition reaction is carried out by heating, it is called thermal

decomposition. 

 

Give an important household application of quick lime other than in the

manufacture of cement.

View Text Solution

(Fe2O3)

(SO2) (SO3)

SO2 SO3

CaCO3
(Limestone)

(s)
Heat

−−→ CaO(s)
(Quick lime)

+ CO2(g)

7. Answer question numbers (a) - (d) on the basis of your understanding

of the following paragraph and related studied concepts. 

Green colour of ferrous sulphate crystals changes on heating.Also the

smell of characteristic odour of burning sulphur is felt. 

 
2FeSO4(s)
Heat

−−→ Fe2O3(s) + SO2(g) + SO3(g)

https://dl.doubtnut.com/l/_nNjUsT37BhGN
https://dl.doubtnut.com/l/_AdLmK3h7NNk3


In this reaction, you can observe that a single reactant breaks down to

give simpler products. This is a decomposition reaction. Ferrous sulphate

crystals  lose water when heated and the colour of the

crystals changes. It then decomposes to ferric oxide , sulphur

dioxide  and sulphur trioxide . Ferric oxide is a solid, while 

 and  are gases. Decomposition of calcium carbonate to calcium

oxide and carbon dioxide on heating is an important decomposition

reaction used in various industries. Calcium oxide is called lime or quick

lime. It has many uses -one is in the manufacture of cement. When a

decomposition reaction is carried out by heating, it is called thermal

decomposition. 

 

How much quick lime is obtained when 50 g of limestone is heated

strongly ?

View Text Solution

(FeSO4.7H2O)

(Fe2O3)

(SO2) (SO3)

SO2 SO3

CaCO3
(Limestone)

(s)
Heat

−−→ CaO(s)
(Quick lime)

+ CO2(g)

8. Answer question numbers (a) - (d) on the basis of your understanding

of the following paragraph and related studied concepts. 

https://dl.doubtnut.com/l/_AdLmK3h7NNk3
https://dl.doubtnut.com/l/_LgMzKlNOA5Mp


Green colour of ferrous sulphate crystals changes on heating.Also the

smell of characteristic odour of burning sulphur is felt. 

 


In this reaction, you can observe that a single reactant breaks down to

give simpler products. This is a decomposition reaction. Ferrous sulphate

crystals  lose water when heated and the colour of the

crystals changes. It then decomposes to ferric oxide , sulphur

dioxide  and sulphur trioxide . Ferric oxide is a solid, while 

 and  are gases. Decomposition of calcium carbonate to calcium

oxide and carbon dioxide on heating is an important decomposition

reaction used in various industries. Calcium oxide is called lime or quick

lime. It has many uses -one is in the manufacture of cement. When a

decomposition reaction is carried out by heating, it is called thermal

decomposition. 

 

What is the difference between decomposition reaction and thermal

decomposition ?

View Text Solution

2FeSO4(s)
Heat

−−→ Fe2O3(s) + SO2(g) + SO3(g)

(FeSO4.7H2O)

(Fe2O3)

(SO2) (SO3)

SO2 SO3

CaCO3
(Limestone)

(s)
Heat

−−→ CaO(s)
(Quick lime)

+ CO2(g)

https://dl.doubtnut.com/l/_LgMzKlNOA5Mp
https://dl.doubtnut.com/l/_E0ZJGLBpbbAz


9. Answer question numbers (a) - (d) on the basis of your understanding

of the following paragraph and related studied concepts. 

You must have observed that iron articles are shiny when new, but get

coated with a reddish brown powder when left for some time. This

process is commonly known as rusting of iron. Some other metals also

get tarnished in this manner. Have you noticed the colour of the coating

formed on copper and silver ? When a metal is attacked by substances

around it such as moisture, acids, etc, it is said to corrode and this

process is called corrosion. The black coating on silver and the green

coating on copper are other examples of corrosion. 

Corrosion causes damage to car bodies, bridges, iron railing, ships and to

all object made of metals, especially those or iron. Corrosion of iron is a

serious problem. Every year an enormous amount of money is spent to

replace damaged iron. 

What kind of reaction is the process of rusting ?

View Text Solution

https://dl.doubtnut.com/l/_E0ZJGLBpbbAz


10. Answer question numbers (a) - (d) on the basis of your understanding

of the following paragraph and related studied concepts. 

You must have observed that iron articles are shiny when new, but get

coated with a reddish brown powder when left for some time. This

process is commonly known as rusting of iron. Some other metals also

get tarnished in this manner. Have you noticed the colour of the coating

formed on copper and silver ? When a metal is attacked by substances

around it such as moisture, acids, etc, it is said to corrode and this

process is called corrosion. The black coating on silver and the green

coating on copper are other examples of corrosion. 

Corrosion causes damage to car bodies, bridges, iron railing, ships and to

all object made of metals, especially those or iron. Corrosion of iron is a

serious problem. Every year an enormous amount of money is spent to

replace damaged iron. 

How is acid produced in the atmosphere ?

View Text Solution

https://dl.doubtnut.com/l/_D5IUfAxXpEbF


11. Answer question numbers (a) - (d) on the basis of your understanding

of the following paragraph and related studied concepts. 

You must have observed that iron articles are shiny when new, but get

coated with a reddish brown powder when left for some time. This

process is commonly known as rusting of iron. Some other metals also

get tarnished in this manner. Have you noticed the colour of the coating

formed on copper and silver ? When a metal is attacked by substances

around it such as moisture, acids, etc, it is said to corrode and this

process is called corrosion. The black coating on silver and the green

coating on copper are other examples of corrosion. 

Corrosion causes damage to car bodies, bridges, iron railing, ships and to

all object made of metals, especially those or iron. Corrosion of iron is a

serious problem. Every year an enormous amount of money is spent to

replace damaged iron. 

How does the rust on copper or silver look like ?

View Text Solution

https://dl.doubtnut.com/l/_HsEBIDn8j1iS


12. Answer question numbers (a) - (d) on the basis of your understanding

of the following paragraph and related studied concepts. 

You must have observed that iron articles are shiny when new, but get

coated with a reddish brown powder when left for some time. This

process is commonly known as rusting of iron. Some other metals also

get tarnished in this manner. Have you noticed the colour of the coating

formed on copper and silver ? When a metal is attacked by substances

around it such as moisture, acids, etc, it is said to corrode and this

process is called corrosion. The black coating on silver and the green

coating on copper are other examples of corrosion. 

Corrosion causes damage to car bodies, bridges, iron railing, ships and to

all object made of metals, especially those or iron. Corrosion of iron is a

serious problem. Every year an enormous amount of money is spent to

replace damaged iron. 

What damage is caused to national property due to the phenomenon of

rusting ?

View Text Solution

https://dl.doubtnut.com/l/_zWvw2jI72Rks


Multiple Choice Questions

1. Mark the incorrect statement :

A. Substance appearing on the left hand side of the equation are

called products.

B. Substances appearing on the right hand side of the equation are

called products.

C. Substances appearing on the left hand side of the equation are

called reactants.

D. Reactants and products are separated by an arrow mark.

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_1KivWVM5R9Pt


2. What is the number of iron atoms and hydrogen atoms in the balanced

equation for the reaction of steam on iron ?

A. 3Fe and 8 H

B. 3Fe and 4H

C. 3Fe and 6H

D. 3Fe and 10H

Answer: A

View Text Solution

3. The shiny finish to the walls is because of

A. calcium oxide.

B. calcium hydroxide

C. calcium carbonate.

D. calcium phosphate.

https://dl.doubtnut.com/l/_CADJaL1IjwAt
https://dl.doubtnut.com/l/_KKqcRKVhh9xT


Answer: C

View Text Solution

4. Which of the following is not an example of combination reaction ?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

2H2(g) + O2(g) → 2H2O(l)

AgNO3 + NaCl(aq) → AgCl(s) + NaNO3(aq)

C(s) + O2(g) → CO2(g)

CH4(g) + 2O2(g) → CO2(g) + 2H2O(g)

5. On heating ferrous sulphate srystals, we obtain

A. a mixture of ferric oxide and sulphur dioxide.

https://dl.doubtnut.com/l/_KKqcRKVhh9xT
https://dl.doubtnut.com/l/_8DGOUibUwHyM
https://dl.doubtnut.com/l/_Ok9q111ytq1M


B. a mixture of ferrous oxide and sulphur trioxide.

C. a mixture of ferric oxide, sulphur dioxide and sulphur trioxide.

D. a mixture of ferrous oxide, sulphur dioxide and sulphur trioxide.

Answer: C

View Text Solution

6. Which of the following are exothermic processes ? 

(i) Reaction of water with quick lime 

(ii) Dilution of an acid 

(iii) Evaporation of water 

(iv) Sublimation of camphor (crystals)

A. (i) and (ii)

B. (ii) and (iii)

C. (i) and (iv)

D. (iii) and (iv)

https://dl.doubtnut.com/l/_Ok9q111ytq1M
https://dl.doubtnut.com/l/_oQiby5XmpONa


Answer: A

View Text Solution

7. The following reaction is an example of a 

(i) displacement reaction. (ii) combination reaction. 

(iii) redox reaction. (iv) neutralisation reaction. 

A. (i) and (iv)

B. (ii) and (iii)

C. (i) and (iii)

D. (iii) and (iv)

Answer: C

View Text Solution

4NH3(g) + 5O2(g) → 4NO(g) + 6H2O(g)

https://dl.doubtnut.com/l/_oQiby5XmpONa
https://dl.doubtnut.com/l/_wZafk4fj83PS


8. Which of the following is (are) an endothermic process(es) ? 

(i) Dilution of sulphuric acid (ii) Sublimation of dry ice 

(iii) Condensation of water vapours (iv) Evaporationof water

A. (i) and (iii)

B. (ii) only

C. (iii) only

D. (ii) and (iv)

Answer: D

View Text Solution

9. Solid calcium oxide reacts vigorously with water to form calcium

hydroxide accompanied by liberation of heat. This process is called

slaking of lime. Calcium hydroxide dissolves in water to form its solution

called lime water. Which among the following is (are) true about slakingof

lime and the solution formed ? 

https://dl.doubtnut.com/l/_gOAbdN2MWwvD
https://dl.doubtnut.com/l/_WEsBimKK475Y


It is an endothermic reaction. 

(ii) It is an exothermic reaction. 

(iii) The pH of the resulting solution will be more than seven. 

(iv) The pH of the resulting solution will be less than seven.

A. (i) and (ii)

B. (ii) and (iii)

C. (i) and (iv)

D. (iii) and (iv)

Answer: B

View Text Solution

10. Which among the folowing is double displacement reaction(s) ? 

A. (i) and (iv)

(i) Pb + CuCl2 → PbCl2 + Cu        (ii) Na2SO4 + BaCl2 → BaSO4 +

 (iii) C + O2 → CO2               (iv) CH4 + 2O2 → CO2 + 2H2O

https://dl.doubtnut.com/l/_WEsBimKK475Y
https://dl.doubtnut.com/l/_Vow6Tbis6tkZ


B. (ii) only

C. (i) and (ii)

D. (iii) and (iv)

Answer: B

View Text Solution

11. Which of the following gases can be used for storage of fresh sample

of a oil for a long time ?

A. Carbon dioxid or oxygen

B. Nitrogen or oxygen

C. Carbon dioxide or helium

D. Helium or nitrogen

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_Vow6Tbis6tkZ
https://dl.doubtnut.com/l/_ESz6kdhNMDI9


12. Which one of the following processes involve chemical reactions ?

A. Storing of oxygen gas under pressure in a gas cylinder.

B. Liquefaction of air.

C. Keeping petrol in a chine dish in the open.

D. Heating copper wire in presence of air at high temperature.

Answer: D

View Text Solution

13. Which of the following are combination reactions ? 

 


A. (i) and (iii)

B. (iii) and (iv)

(i) 2KClO3

Heat
−−→ 2KCl + 3O2        (ii) MgO + H2 → Mg(OH)2

(iii) 4Al + 3O2 → 2Al2O3       (iv) Zn + FeSO4 → ZnSO4 + Fe

https://dl.doubtnut.com/l/_ESz6kdhNMDI9
https://dl.doubtnut.com/l/_YAZif3dftaWu
https://dl.doubtnut.com/l/_TA1wAnoROQAT


C. (ii) and (iv)

D. (ii) and (iii)

Answer: D

View Text Solution

14. The following reaction is used for the preparation of oxygen gas in the

laboratory 

 


Whch of the following statement(s) is (are) correct about the reaction ?

A. It is a decomposition reaction and endothermic in nature.

B. It is a combination reaction.

C. It is a decomposition reaction and accompanied by relese of heat.

D. It is a photochemical decomposition reaction and exothermic in

nature.

2KClO3(s)
Heat

−−−−−→
Catalyst

2KCl(s) + 3O2(g)

https://dl.doubtnut.com/l/_TA1wAnoROQAT
https://dl.doubtnut.com/l/_3bArUQznsBRG


Answer: A

View Text Solution

15. In which of the followng chemical equations, the abbreviations

represent the correct states of the reactants and products involved at

reaction temperature ?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

2H2(l) + O2(l) → 2H2O(g)

2H2(g) + O2(l) → 2H2O(l)

2H2(g) + O2(g) → 2H2O(l)

2H2(g) + O2(g) → 2H2O(g)

https://dl.doubtnut.com/l/_3bArUQznsBRG
https://dl.doubtnut.com/l/_GOhgoDUsYWea


16. Electrolysis of water is a decomposition reaction. The mole ratio of

hydrogen and oxygen gases liberated during electrolysis of water is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

1: 1

2: 1

4: 1

1: 2

17. Barium chloride on reacting with ammonium sulphate forms barium

sulphate and ammonium chloride. Which of the followng correctly

represents the type of the reaction involved ? 

(i) Displacement reaction (ii) Precipitation reaction 

(iii) Combination reaction (iv) Double displacement reaction

https://dl.doubtnut.com/l/_gzCrRe50Alqz
https://dl.doubtnut.com/l/_6vXKJiQqY4UG


A. (i) only

B. (ii) only

C. (iv) only

D. (ii) and (iv)

Answer: D

View Text Solution

18. In the double displacement reaction aqueous potassium iodide and

aqueous lead nitrate, a yellow precipitate of lead iodide is formed. While

performing th activity if lead nitrate is not available, which of the

following can be used in place of lead nitrate ?

A. Lead sulphute (insoluble)

B. Lead acetate

C. Ammonium nitrate

D. Potassium sulphate

https://dl.doubtnut.com/l/_6vXKJiQqY4UG
https://dl.doubtnut.com/l/_rVQGg07kQXSa


Answer: B

View Text Solution

19. Three beakers labelled as A, B and C each containing 25 mL of water

were taken. A small amount of , anhydrous  and 

were added to the beakers A, B and C respectively. It was observed that

there was an increase in the temperature of the solutions contained in

beakers A and B, whereas in case of beaker C, the temperature of the

solution falls. Which one of the following statement(s) is (are) correct ? 

(i) In beakers A and B, exothermic process has occurred. 

(ii) In beakers A and B, endothermic process has occurred. 

(iii) In beaker C exothermic process has occurred. 

(iv) In beaker C endothermic process has occurred.

A. (i) only

B. (ii) only

C. (i) and (iv)

NaOH CuSO4 NaCl

https://dl.doubtnut.com/l/_rVQGg07kQXSa
https://dl.doubtnut.com/l/_25FhKeKIRfKh


D. (ii) and (iii)

Answer: C

View Text Solution

20. Which among the following statement(s) is (are) true ? Exposure of

silver chloride to sunlight for a long duration turns grey ddue to 

(i) the formation of silver by decomposition of silver shloried. 

(ii) sublimation of silver chloride. 

(iii) decomposition of chlorine gas from silver chloride. 

(iv) oxidation of silver chloride.

A. (i) only

B. (i) and (iii)

C. (ii) and (iii)

D. (iv) only

Answer: A

https://dl.doubtnut.com/l/_25FhKeKIRfKh
https://dl.doubtnut.com/l/_y6Ai9m01B27e


View Text Solution

21. Iron nails were added to ferrous sulphate solution in a test tube and

kept for some time. The colour of iron nails became brownish. The

reaction that takes place in categorised as

A. Decomposition reaction.

B. Combination reaction

C. Double decomposition reaction.

D. Displacement reaction.

Answer: A

View Text Solution

22. A silver ornament remained exposed to the atmosphere for a long

time. The colour of its surface looked

https://dl.doubtnut.com/l/_y6Ai9m01B27e
https://dl.doubtnut.com/l/_1GuJcPyMuKdZ
https://dl.doubtnut.com/l/_0hdWuRgF52aj


A. green

B. red

C. black

D. blue

Answer: C

View Text Solution

23. When fats and oils are oxidised,

A. they become rancid.

B. their smell change

C. their taste changes

D. all the above.

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_0hdWuRgF52aj
https://dl.doubtnut.com/l/_YGVapfjd3AfS


True Or False

24. Ferrous sulphate on heating gives ferric oxide. Two gases that

accompany the reaction are

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

SO2 + O2

SO2 + SO3

SO3 + O2

SO2 + N2

1. Reaction of zinc with copper sulphate to form zinc sulphate and copper

is an example of double decomposition reaction.

View Text Solution

https://dl.doubtnut.com/l/_YGVapfjd3AfS
https://dl.doubtnut.com/l/_2LlmcOgWl4Za
https://dl.doubtnut.com/l/_FINcq8cIBamh


View Text Solution

2. Burning of magnesium ribbon in air is both a combination reaction and

an oxidation reaction.

View Text Solution

3. Corrosion causes damage to car bodies, bridges, railways and ships.

View Text Solution

4. Precipitation reactions do not produce insoluble salts.

View Text Solution

5. In a combination reaction, only two substances can combine to form a

new single substance.

View Text Solution

https://dl.doubtnut.com/l/_FINcq8cIBamh
https://dl.doubtnut.com/l/_gcrz4kuHkOT3
https://dl.doubtnut.com/l/_OF0txe5n1FAX
https://dl.doubtnut.com/l/_Jhatwht3fiAF
https://dl.doubtnut.com/l/_lNSuGGNNWEEJ


6. Reactions in which energy is absorbed are known as endothermic

reactions.

View Text Solution

7. Reduction is the loss of oxygen or gain of hydrogen.

View Text Solution

8. Ferrous sulphate crystals  on heating lose water of

crystallisation parlially and change to .

View Text Solution

(FeSO4.7H2O)

FeSO4.5H2O

9. If we do not add a few drops of  to water, its electrolysis does

not take place.

H2SO4

https://dl.doubtnut.com/l/_lNSuGGNNWEEJ
https://dl.doubtnut.com/l/_BBsfAIN9ADFO
https://dl.doubtnut.com/l/_YebaqCpRI4S2
https://dl.doubtnut.com/l/_ucWWF9gKiEYj
https://dl.doubtnut.com/l/_xvqUxVGWV9er


Fill In The Blanks

View Text Solution

10. The products obtained by decomposition of  by sunlight are

silver and hydrochloric acid.

View Text Solution

AgCl

1. Whenever a ________ change occurs, we say that a chemical reaction has

taken place.

View Text Solution

2. Magnesium ribbon burns with a white dazzling light and changes into

________ powder.

View Text Solution

https://dl.doubtnut.com/l/_xvqUxVGWV9er
https://dl.doubtnut.com/l/_Tmz4JFDZTeXX
https://dl.doubtnut.com/l/_c0mBj3UKEzvZ
https://dl.doubtnut.com/l/_qEf1GZxwf6Lm


3. Zinc reacts with sulphuric acid to form zinc sulphate with liberation of

________ gas.

View Text Solution

4. Chemical formula for marble is ________ .

View Text Solution

5. During ________ food is broken down into simpler substances.

View Text Solution

6. Silver chloride decomposes into silver and chlorine by the action of

________.

View Text Solution

https://dl.doubtnut.com/l/_qEf1GZxwf6Lm
https://dl.doubtnut.com/l/_oBVKInn8d1rm
https://dl.doubtnut.com/l/_RfX4sKW26wYr
https://dl.doubtnut.com/l/_8yAQARhOrfFA
https://dl.doubtnut.com/l/_IcRcYLUDFSFX


Assertion Reason Questions

7. Decomposition of __________ to calcium oxide and carbon dioxide is used

in various industries.

View Text Solution

8. Burning of methane to give carbon dioxide and water is an _________

reaction.

View Text Solution

1. Assertion (A) : Iron articles get coated with reddish brown powder when

left for sometime in the open. 

Reason (R ) : Iron is attacked by substances around it such as moisture,

acids, etc.

https://dl.doubtnut.com/l/_Hbk3B1TaQkBK
https://dl.doubtnut.com/l/_Q7fYb8KbnOfs
https://dl.doubtnut.com/l/_bXvAQ186IUg5


A. Both (A) and (R) are true and (R) is correct explanation of the

assertion.

B. Both (A) and (R) are true but (R) is not the correct explanation of

the assertion.

C. (A) is true but (R) is false.

D. (A) is false but (R) is true.

Answer: A

View Text Solution

2. Assertion (A) : Fat/Oil containing food substances become rancid and

their smell taste changes. 

Reason (R) : We keep food in air - tight containers.

A. Both (A) and (R) are true and (R) is correct explanation of the

assertion.

https://dl.doubtnut.com/l/_bXvAQ186IUg5
https://dl.doubtnut.com/l/_1ojcfezMnmZl


B. Both (A) and (R) are true but (R) is not the correct explanation of

the assertion.

C. (A) is true but (R) is false.

D. (A) is false but (R) is true.

Answer: B

View Text Solution

3. Assertion (A) White silver chloride turns grey in sunlight. 

Reason (R) : Copper reacts with zinc sulphate to form copper sulphate

and zinc is deposited.

A. Both (A) and (R) are true and (R) is correct explanation of the

assertion.

B. Both (A) and (R) are true but (R) is not the correct explanation of

the assertion.

C. (A) is true but (R) is false.

https://dl.doubtnut.com/l/_1ojcfezMnmZl
https://dl.doubtnut.com/l/_dxuAt3OLoRYx


D. (A) is false but (R) is true.

Answer: C

View Text Solution

4. Assertion (A) : Precipitation reactions produce soluble salts. 

Reason (R) : In the reaction : Lead oxide + Carbon  Lead + Carbon

dioxide, carbon is getting oxidised.

A. Both (A) and (R) are true and (R) is correct explanation of the

assertion.

B. Both (A) and (R) are true but (R) is not the correct explanation of

the assertion.

C. (A) is true but (R) is false.

D. (A) is false but (R) is true.

Answer: D

→

https://dl.doubtnut.com/l/_dxuAt3OLoRYx
https://dl.doubtnut.com/l/_EwBhsoiSGbXq


View Text Solution

5. Assertion (A) : A complete chemical equation represents the reactants

and products and their physical state symbolically. 

Reason (R) : In a combination reaction, two or more substance combine

to form a new single substance.

A. Both (A) and (R) are true and (R) is correct explanation of the

assertion.

B. Both (A) and (R) are true but (R) is not the correct explanation of

the assertion.

C. (A) is true but (R) is false.

D. (A) is false but (R) is true.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_EwBhsoiSGbXq
https://dl.doubtnut.com/l/_4YxO7PYO3iwy


6. Assertion (A) : Slaking of lime is an exothermic and combination

reaction. 

Reason (R ) : Quick lime reacts with water to produce slaked lime.

A. Both (A) and (R) are true and (R) is correct explanation of the

assertion.

B. Both (A) and (R) are true but (R) is not the correct explanation of

the assertion.

C. (A) is true but (R) is false.

D. (A) is false but (R) is true.

Answer: A

View Text Solution

7. Assertion (A) : On passing steam over hot iron, oxygen gas is produced. 

Reason (R) : A molecule of zinc sulphate contains four atoms of oxygen.

https://dl.doubtnut.com/l/_oKE7uygZfqWW
https://dl.doubtnut.com/l/_K5FRloPwGKLV


A. Both (A) and (R) are true and (R) is correct explanation of the

assertion.

B. Both (A) and (R) are true but (R) is not the correct explanation of

the assertion.

C. (A) is true but (R) is false.

D. (A) is false but (R) is true.

Answer: D

View Text Solution

8. Assertion (A) : An equation is not complete if the physical states of

reactants and products is not given. 

Reason (R)  and  react in the presence of haemoglobin to

produce glucose.

A. Both (A) and (R) are true and (R) is correct explanation of the

assertion.

CO2 H2O

https://dl.doubtnut.com/l/_K5FRloPwGKLV
https://dl.doubtnut.com/l/_4jz4CDXsCfdk


B. Both (A) and (R) are true but (R) is not the correct explanation of

the assertion.

C. (A) is true but (R) is false.

D. (A) is false but (R) is true.

Answer: C

View Text Solution

9. Assertion (A) : Glucose combines with oxygen in the cells of our body

and provides energy. 

Reason (R) : Reaction in which heat is released along with the formation

of products are called exothermic reactions.

A. Both (A) and (R) are true and (R) is correct explanation of the

assertion.

B. Both (A) and (R) are true but (R) is not the correct explanation of

the assertion.

https://dl.doubtnut.com/l/_4jz4CDXsCfdk
https://dl.doubtnut.com/l/_pGQUdUQd9ZHC


C. (A) is true but (R) is false.

D. (A) is false but (R) is true.

Answer: B

View Text Solution

10. Assertion (A) : Calcium hydroxide reacts slowly with the  in air to

form a thin layer of  on the walls. 


Reason (R) : Decomposition reactions require energy in the form of heat,

light or electricity for breaking down the reactants.

A. Both (A) and (R) are true and (R) is correct explanation of the

assertion.

B. Both (A) and (R) are true but (R) is not the correct explanation of

the assertion.

C. (A) is true but (R) is false.

D. (A) is false but (R) is true.

CO2

CaCO3

https://dl.doubtnut.com/l/_pGQUdUQd9ZHC
https://dl.doubtnut.com/l/_BphCeubyAeLn


Very Short Answer Questions

Answer: B

View Text Solution

1. What happens when a magnesium ribbon is ignited ? Give chemical

reaction.

View Text Solution

2. Potato chips manufactures fill the packet of chips with nitrogen gas.

Why ?

View Text Solution

3. Write the equation in the symbolic form with state symbols for the

following reaction : 

https://dl.doubtnut.com/l/_BphCeubyAeLn
https://dl.doubtnut.com/l/_5DHHmagkAL3B
https://dl.doubtnut.com/l/_E6jjnTXlhDpw
https://dl.doubtnut.com/l/_0RmRVhpSC7mR


Zinc + Sulphuric acid  Zinc sulphate + Hydrogen

View Text Solution

→

4. Balance the following equation : 

View Text Solution

Fe + H2O → Fe3O4 + H2

5. Why do we magnesium ribbon with a sand - paper before igniting ?

View Text Solution

6. , name the type of reaction.

View Text Solution

N2 + 3H2 → 2NH3

7. What happens chemically when quick lime is added to water ?

https://dl.doubtnut.com/l/_0RmRVhpSC7mR
https://dl.doubtnut.com/l/_gPOEpokNto7t
https://dl.doubtnut.com/l/_022XwJNbhFOQ
https://dl.doubtnut.com/l/_naHQJJQnJKXV
https://dl.doubtnut.com/l/_H9aR6qSJB73u


View Text Solution

8. On adding dilute hydrochloric acid to copper oxide powder, the

solution formed is blue-green. Predict the new compound formed which

imparts a blue - green colour to the solution.

View Text Solution

9. Why is respiration considered an exothermic process ?

View Text Solution

10. If copper metal is heated over a flame it develops a coating. What is

the colour and composition of coating ?

View Text Solution

https://dl.doubtnut.com/l/_H9aR6qSJB73u
https://dl.doubtnut.com/l/_fo234cR809p8
https://dl.doubtnut.com/l/_ztxbYz6SQMOQ
https://dl.doubtnut.com/l/_zX2ZZEe9iWDp


11. Hydrogen and oxygen gases are produced at the cathode and anode

respectively in the electrolysis of acidulated water. What is the ratio of

the volumes of hydrogen and oxygen gases ?

View Text Solution

12. Silver chloride on photochemical decomposition produces silver and

chlorine. What is the application of this reaction ?

View Text Solution

13. What are exothermic and endothermic reactions ?

View Text Solution

14. Write a balanced chemical equation to represent the following

reaction : Carbon monoxide reacts with hydrogen gas at 340 atm to form

https://dl.doubtnut.com/l/_W615tTSXGznt
https://dl.doubtnut.com/l/_gDR96iCPNUAP
https://dl.doubtnut.com/l/_L6AlrtbD0dnQ
https://dl.doubtnut.com/l/_MIO8DlIvR74I


methyl alcohol

View Text Solution

15. Which one is a chemical change - fermentation of fruit juice or diluting

fruit juice ?

View Text Solution

16. Tell whether heat is evolved or absorbed when quick lime is added to

water.

View Text Solution

17. Which colour change and smell are observed when crystals of ferrous

sulphate are heated ? Give chemical reaction also.

View Text Solution

https://dl.doubtnut.com/l/_MIO8DlIvR74I
https://dl.doubtnut.com/l/_NYzwX1MIiXdw
https://dl.doubtnut.com/l/_yqHPAUqhMjRm
https://dl.doubtnut.com/l/_54oox2fAphtG
https://dl.doubtnut.com/l/_fYMe6DLrrKC1


18. Lead nitrate on heating gives lead oxide, nitrogen oxide and oxygen.

Write balanced equation with state symbols for this reaction.

View Text Solution

19. Which of the following reactions is oxidation and which is reduction ? 

View Text Solution

(a) 2Cu + O2 → 2CuO          (b) CuO + H2

Heat
−−→ Cu + H2O

20. In the following reaction, while reactants undergo oxidation and

which reactants undergo reduction ? 

View Text Solution

ZnO + C → Zn + CO

21. Is burning of a candle wax a physical change or a chemical change ?

https://dl.doubtnut.com/l/_fYMe6DLrrKC1
https://dl.doubtnut.com/l/_n9ALSS87Ity9
https://dl.doubtnut.com/l/_DCtb3PuvTFwT
https://dl.doubtnut.com/l/_FBKnEekKPNT7


View Text Solution

22. State one basic difference between a physical change and a chemical

change.

View Text Solution

23. Name and state the law which is kept in mind when we balance a

chemical equation.

View Text Solution

24.  


Consider the above mentioned two chemical equations with two different

kinds of arrows  and  along with products. What do these two

different arrows indicate ?

View Text Solution

AgNO3(aq) + NaCl(aq) → AgCl(s) ⏐
↓ + NaNO3(aq)

              FeS + H2SO4 → FeSO4 + H2S ↑

( ↑
⏐ ) ( ⏐

↓ )

https://dl.doubtnut.com/l/_FBKnEekKPNT7
https://dl.doubtnut.com/l/_CGEJUIUajFiz
https://dl.doubtnut.com/l/_OjQdz7EQFxpN
https://dl.doubtnut.com/l/_TngbLIjQa0Qw


25. Complete and balance the following equation : 

View Text Solution

Fe2O3 + Al →

26. Define oxidation and reduction.

View Text Solution

27. Give an example of double displacement reaction (only reaction with

complete balanced equation).

View Text Solution

28. Balance the following chemical equation : 

View Text Solution

NaOH + H2SO4 → Na2SO4 + H2O

https://dl.doubtnut.com/l/_Q8lJbFErSXZo
https://dl.doubtnut.com/l/_5mANjQGvyjQA
https://dl.doubtnut.com/l/_mD6fW7rRTvZu
https://dl.doubtnut.com/l/_JKDUPvNAg7s9


Short Answer Questions

29. What are the conditions that promote corrosion ?

View Text Solution

30. What do we mean when we say that a substance has gone rancid ?

View Text Solution

31. Why do fire flies glow at night ?

View Text Solution

1. A, B and are three elements which undergo chemical according to the

following equations : 

https://dl.doubtnut.com/l/_JKDUPvNAg7s9
https://dl.doubtnut.com/l/_Ul8ekMdeAI9T
https://dl.doubtnut.com/l/_HvNWcX5Hzl1k
https://dl.doubtnut.com/l/_MSo4NGUz8eqA
https://dl.doubtnut.com/l/_hU4MoW5F3dg9


 


Answer the following questions with reactions : 

Which element is the most reactive ?

View Text Solution

    A2O32B → B2O3 + 2A

3CSO4 + 2B → B2(SO4)
3

+ 3C

 3CO + 2A → A2O3 + 3C

2. A, B and are three elements which undergo chemical according to the

following equations : 

 


Answer the following questions with reactions : 

Which element is the least reactive ?

View Text Solution

    A2O32B → B2O3 + 2A

3CSO4 + 2B → B2(SO4)
3

+ 3C

 3CO + 2A → A2O3 + 3C

3. A, B and are three elements which undergo chemical according to the

following equations : 

https://dl.doubtnut.com/l/_hU4MoW5F3dg9
https://dl.doubtnut.com/l/_8Oyfhh8GmCCp
https://dl.doubtnut.com/l/_GTS3WbRTiNjd


 


Answer the following questions with reactions : 

What is the type of reactions listed above ?

View Text Solution

    A2O32B → B2O3 + 2A

3CSO4 + 2B → B2(SO4)
3

+ 3C

 3CO + 2A → A2O3 + 3C

4. Name the type of chemical reaction represented by the following

equations : 

View Text Solution

CaCO3(s)
Heat

−−→ CaO(s) + CO2(g)

5. Name the type of chemical reaction represented by the following

equations : 

View Text Solution

CaO(s) + H2O(l) → Ca(OH)2(aq)

https://dl.doubtnut.com/l/_GTS3WbRTiNjd
https://dl.doubtnut.com/l/_IyUoyMvfN8qe
https://dl.doubtnut.com/l/_zbumPC69Zuwk
https://dl.doubtnut.com/l/_0KogMIYn7ypW


6. Name the type of chemical reaction represented by the following

equations : 

View Text Solution

Zn(s) + H2SO4 → ZnSO4(aq) + H2(g)

7. A solution of a substance 'X' is used for testing carbon dioxide. What

will be the reaction of 'X' with carbon dioxide ? Write balanced equation

for this reaction.

View Text Solution

8. How is 'X' obtained ? Give chemical equation.

View Text Solution

9. A small amount of quick lime is added to water in a beaker. 

Name and define the type of reaction that has talen place.

https://dl.doubtnut.com/l/_0KogMIYn7ypW
https://dl.doubtnut.com/l/_6n0IrIBUTavf
https://dl.doubtnut.com/l/_Ta1ZNyjfmiBM
https://dl.doubtnut.com/l/_IIhw1ZIlSdz1


View Text Solution

10. A small amount of quick lime is added to water in a beaker. 

Write balanced chemical equation for the above reaction. Write the

chemical name of product obtained.

View Text Solution

11. A small amount of quick lime is added to water in a beaker. 

State two observations that you will make in the reaction.

View Text Solution

12. In the electrolysis of water : 

Name the gas collected at the cathode and the anode.

View Text Solution

https://dl.doubtnut.com/l/_IIhw1ZIlSdz1
https://dl.doubtnut.com/l/_d8BWZgacM7w2
https://dl.doubtnut.com/l/_uessVcWPptlS
https://dl.doubtnut.com/l/_NqHsY5Su7GVH
https://dl.doubtnut.com/l/_ZhR4qHaLGrfj


13. In the electrolysis of water : 

Why is the volume of gas collected at one electrode is double of the

other ?

View Text Solution

14. In the electrolysis of water : 

Why are few drops of dil.  added to the water ?

View Text Solution

H2SO4

15. Write balanced chemical equation for the reactions that take place

during respiration . Identify the type of combination reaction that taken

place during this process and justify the name. Give one more example of

this type of reaction.

View Text Solution

https://dl.doubtnut.com/l/_ZhR4qHaLGrfj
https://dl.doubtnut.com/l/_mPOiQDo5CAOJ
https://dl.doubtnut.com/l/_QswTfC4Aiu4X


16. An aqueous solution of metal nitrate 'P' reacts with sodium bromide

solution to form yellow precipitate compound 'Q' which is used in

photography. 'Q' on exposure to sunlight undergoes decomposition

reaction to form metal present in along with a raddish brown gas.

Identify 'P' and 'Q' Write balanced chemical equation for the chemical

reaction. List two categories in which this reaction can be placed.

View Text Solution

17. Name the substance oxidised and reduced, and also identify the

oxidising agents and reducing agents in the following reactions : 

View Text Solution

Fe2O3 + 3CO → 2Fe + 3CO2

18. Name the substance oxidised and reduced, and also identify the

oxidising agents and reducing agents in the following reactions : 

3MnO2 + 4Al → 3Mn + 2Al2O3

https://dl.doubtnut.com/l/_IlGLoLzGzvQq
https://dl.doubtnut.com/l/_ffOw4ojqQF7t
https://dl.doubtnut.com/l/_arehRaBVOfiv


View Text Solution

19. Name the substance oxidised and reduced, and also identify the

oxidising agents and reducing agents in the following reactions : 

View Text Solution

H2S + SO2 → S + H2O

20. Complete and balance the following equations : 

View Text Solution

NH3 + O2 →

21. Complete and balance the following equations : 

View Text Solution

NaOH + H2SO4 →

https://dl.doubtnut.com/l/_arehRaBVOfiv
https://dl.doubtnut.com/l/_La0qr1BKgdyN
https://dl.doubtnut.com/l/_bH3QUZRwGKnA
https://dl.doubtnut.com/l/_9AA2isuIlNeW
https://dl.doubtnut.com/l/_v0k005Il4H2B


22. Complete and balance the following equations : 

View Text Solution

Pb(NO3)2 + KI →

23. State reason for the following : 

Potato chips manufacturers usually flush bags of chips with nitrogen gas.

View Text Solution

24. State reason for the following : 

Iron articles loose their shine gradually.

View Text Solution

25. State reason for the following : 

Foods should be kept in air - tight containers.

View Text Solution

https://dl.doubtnut.com/l/_v0k005Il4H2B
https://dl.doubtnut.com/l/_hOFysdY22nGF
https://dl.doubtnut.com/l/_QN6pvWfz3a8E
https://dl.doubtnut.com/l/_42HwRTEXXveD


View Text Solution

26. Write the essential condition for following reaction to take place : 

 


Write one application of this reaction.

View Text Solution

2AgBr → 2Ag + Br2

27. Complete the following chemical equation of a chemical reaction : 

View Text Solution

2FeSO4

Heat
−−→ Fe2O3 + . . . . + . . . .

28. What happens when water is added to quick lime ? Write chemical

equation.

View Text Solution

https://dl.doubtnut.com/l/_42HwRTEXXveD
https://dl.doubtnut.com/l/_C4Cg4fbdd04o
https://dl.doubtnut.com/l/_rEg9W9r4sR8e
https://dl.doubtnut.com/l/_SLarcYzwhjx3


29. Look at the figure given below and answer the following questions 

 


State the colour of the reactant and the product of the chemical reaction.

View Text Solution

30. Look at the figure given below and answer the following questions 

 


Write the chemical equation involved in this process.

https://dl.doubtnut.com/l/_5ABYPh3namrr
https://dl.doubtnut.com/l/_sacJI1Wxn7Re


View Text Solution

31. Look at the figure given below and answer the following questions 

 


Can we convert the product obtained back to reactant ? Write the

reaction involved.

View Text Solution

32. Balance the following chemical equations : 

View Text Solution

Mg + N2 → Mg3N2

https://dl.doubtnut.com/l/_sacJI1Wxn7Re
https://dl.doubtnut.com/l/_IyMCj4vE7gkJ
https://dl.doubtnut.com/l/_2zBxzx9IFPas


33. Balance the following chemical equations : 

View Text Solution

Al + Cl2 → AlCl3

34. Balance the following chemical equations : 

View Text Solution

Pb(NO3)2

Heat
−−→ PbO + NO2 + O2

35. Take 3 g of barium hydroxide in a test tube, now add about 2 g

ammonium chloride and mix the contents with the help of a glass rod.

Now touch the test tube from outside. 

What do you feel on touching the test tube ?

View Text Solution

https://dl.doubtnut.com/l/_1VdPUUDKkjTS
https://dl.doubtnut.com/l/_q3EvaKYBuUQd
https://dl.doubtnut.com/l/_EJIwmHQs4S90


36. Take 3 g of barium hydroxide in a test tube, now add about 2 g

ammonium chloride and mix the contents with the help of a glass rod.

Now touch the test tube from outside. 

State the inference about the type or reaction occurred.

View Text Solution

37. Take 3 g of barium hydroxide in a test tube, now add about 2 g

ammonium chloride and mix the contents with the help of a glass rod.

Now touch the test tube from outside. 

Write the balanced chemical equation of the reaction involved.

View Text Solution

38. Write the balanced chemical equations for the following reactions : 

Sodium carbonate on reaction with hydrochloric acid in equal molar

concentrations gives sodium chloride and reaction hydrogencarbonate.

View Text Solution

https://dl.doubtnut.com/l/_50bQ2HXLELbJ
https://dl.doubtnut.com/l/_SbYrlsZTgzXb
https://dl.doubtnut.com/l/_ymISOsBL3dvZ


View Text Solution

39. Write the balanced chemical equations for the following reactions : 

Sodium hydrogencarbonate on reaction with hydrochloric acid sodium

chloride, water and liberates carbon dioxide.

View Text Solution

40. Write the balanced chemical equations for the following reactions : 

Copper sulphate on treatment with potassium iodide precipitates

cuprous iodide  liberates  gas ans also forms potassium

sulphuric.

View Text Solution

(Cu2I2) I2

41. Classify the following chemical reactions as exothermic or

endothermic : 

Water is added to quick lime.

https://dl.doubtnut.com/l/_ymISOsBL3dvZ
https://dl.doubtnut.com/l/_7aoxMq8LisgT
https://dl.doubtnut.com/l/_DEo5442MSi94
https://dl.doubtnut.com/l/_ZbBM8mrjEfgx


View Text Solution

42. Classify the following chemical reactions as exothermic or

endothermic : 

Dilute sulphuric acid is added to zinc granules.

View Text Solution

43. Classify the following chemical reactions as exothermic or

endothermic : 

When ammonium chloride is dissolved in water in a test tube it becomes

cold.

View Text Solution

44. Classify the following chemical reactions as exothermic or

endothermic : 

The decomposition of vegetable matter into compost.

https://dl.doubtnut.com/l/_ZbBM8mrjEfgx
https://dl.doubtnut.com/l/_i24qZBT6dTF0
https://dl.doubtnut.com/l/_ff3O6iDa0vat
https://dl.doubtnut.com/l/_JvBQa9Cjl9qv


View Text Solution

45. Classify the following chemical reactions as exothermic or

endothermic : 

Electrolysis of water.

View Text Solution

46. Classify the following chemical reactions as exothermic or

endothermic : 

Silver chloride turns grey in the presence of sunlight to from silver metal.

View Text Solution

47. Write chemical equations for the reactions taking place when : 

magnesium reacts with dilute .

View Text Solution

HNO3

https://dl.doubtnut.com/l/_JvBQa9Cjl9qv
https://dl.doubtnut.com/l/_iy4KieNfL02Y
https://dl.doubtnut.com/l/_g7j5ETtJQgdV
https://dl.doubtnut.com/l/_4O3WTMvwZ6Db


48. Write chemical equations for the reactions taking place when : 

sodium reacts with water.

View Text Solution

49. Write chemical equations for the reactions taking place when : 

zinc reacts with dilute hydrochloric acid.

View Text Solution

50. You must have tasted or smelt the fat containing food material left

for a long time. Such foods taste and smell bad. What is the reason for

the reason for this ? Name to the phenomenon responsible for it. List two

measures for its prevention.

View Text Solution

https://dl.doubtnut.com/l/_4O3WTMvwZ6Db
https://dl.doubtnut.com/l/_edOR6uDQVbxb
https://dl.doubtnut.com/l/_tI5dp0N3WIhz
https://dl.doubtnut.com/l/_FbTuer3JAnv5


51. Name the type of chemical reaction represented by the following

equations : 

View Text Solution

CaCO3(s)
Heat

−−→ CaO(s) + CO2(g)

52. Name the type of chemical reaction represented by the following

equations : 

View Text Solution

CaO(s) + H2O(l) → Ca(OH)2(aq)

53. Name the type of chemical reaction represented by the following

equations : 

View Text Solution

Zn(s) + H2SO4 → ZnSO4(aq) + H2(g)

https://dl.doubtnut.com/l/_eE0Ts05FtIN8
https://dl.doubtnut.com/l/_46s3AWNjEOD4
https://dl.doubtnut.com/l/_cKCRwBhOrMYU
https://dl.doubtnut.com/l/_91CpPvhJknM8


54. Classify the following chemical reactions as exothermic or

endothermic : 

Water is added to quick lime .

View Text Solution

55. Classify the following chemical reactions as exothermic or

endothermic : 

Dilute sulphuric acid is added to zinc granules.

View Text Solution

56. Classify the following chemical reactions as exothermic or

endothermic : 

When ammonium chloride is dissolved in water in a test tube it becomes

cold.

View Text Solution

https://dl.doubtnut.com/l/_91CpPvhJknM8
https://dl.doubtnut.com/l/_WVAZtQdhMzCt
https://dl.doubtnut.com/l/_dSeLK1Q0ojIC
https://dl.doubtnut.com/l/_nGSiF4uNpod3


57. Classify the following chemical reactions as exothermic or

endothermic : 

The decomposition of vegetable matter into compost.

View Text Solution

58. Classify the following chemical reactions as exothermic or

endothermic : 

Electrolysis of water.

View Text Solution

59. Classify the following chemical reactions as exothermic or

endothermic : 

Silver chloride turns grey in the presence of sunlight to form silver metal.

View Text Solution

https://dl.doubtnut.com/l/_nGSiF4uNpod3
https://dl.doubtnut.com/l/_EnTTCsNNcXD2
https://dl.doubtnut.com/l/_vwl7Wzi23LRx
https://dl.doubtnut.com/l/_YCg2XowoOiBx


Long Answer Questions

60. Decomposition reactions require energy either in the form of heat or

light or electricity for breaking down the reactants. Write one equation

each for decomposition reactions where energy is supplied in the form

heat, light and electricity.

View Text Solution

1. Account for the following : 

(a) White silver chloride turns grey in sunlight. 

(b) Brown coloured copper powder on heating in air turns into black

coloured substance.

View Text Solution

2. What do you mean by : 

(a) Displacement reaction ? 

https://dl.doubtnut.com/l/_YCg2XowoOiBx
https://dl.doubtnut.com/l/_BOwDREbO5LJg
https://dl.doubtnut.com/l/_UZiWAd7ThO9N


(b) Reduction reaction ? 

Combination reaction ? 

Write balanced chemical equations.

View Text Solution

3. What colour changes do you observe when : 

(i) you add Zn to a solution of copper sulphate ? 

(ii) you add Pb to a solution of cupric chloride ? 

Write balanced equations.

View Text Solution

4. Complete and balance the following equations : 

(i)  (ii)  


(iii)  (iv) 

View Text Solution

HgCl2 + KI → Al + Cr2O3 →

CuSO4 + H2S → (NH4)2Cr2O7

Δ
−−→

https://dl.doubtnut.com/l/_UZiWAd7ThO9N
https://dl.doubtnut.com/l/_BJLARSiV4eQY
https://dl.doubtnut.com/l/_tBHCBYmxnKsL
https://dl.doubtnut.com/l/_yr90mnqpMrZY


5. Observe the given figure and answer the following question : 

Write the complete balanced reaction.

View Text Solution

6. Observe the given figure and answer the following question : 

What is the type of reaction involved ?

View Text Solution

7. Observe the given figure and answer the following question : 

Is there any precipitate formed ?

View Text Solution

8. Observe the given figure and answer the following question : 

If any precipitate is formed, write the colour of the precipitate.

View Text Solution

https://dl.doubtnut.com/l/_yr90mnqpMrZY
https://dl.doubtnut.com/l/_jS1fj7hscBuY
https://dl.doubtnut.com/l/_5dyr21BvVhEt
https://dl.doubtnut.com/l/_SYmyqwIhe1WY


View Text Solution

9. Illustrate an activity along with a labelled diagram, to show that a

change in the state of matter and change in temperature takes place

during a chemical reaction.

View Text Solution

10. Write balanced chemical equations for the following reactions : 

(i) Natural gas burns and combines with oxygen to produce carbon

dioxide and water. 

(ii) Ferrous sulphate crystals on heating break up into ferric oxide,

sulphur dioxide and sulphur trioxide.

View Text Solution

11. On heating blue coloured powder of copper (II) nitrate in a boiling

tube, copper oxide (black), oxygen gas and a brown gas X is formed. 

https://dl.doubtnut.com/l/_SYmyqwIhe1WY
https://dl.doubtnut.com/l/_tqS0wsjztQeh
https://dl.doubtnut.com/l/_RQ1jWl295RmM
https://dl.doubtnut.com/l/_epe5NnEaHv7h


Write a balanced chemical equation of the reaction.

View Text Solution

12. On heating blue coloured powder of copper (II) nitrate in a boiling

tube, copper oxide (black), oxygen gas and a brown gas X is formed. 

Identify the brown gas X evolved.

View Text Solution

13. On heating blue coloured powder of copper (II) nitrate in a boiling

tube, copper oxide (black), oxygen gas and a brown gas X is formed. 

Identify the type of reaction.

View Text Solution

14. On heating blue coloured powder of copper (II) nitrate in a boiling

tube, copper oxide (black), oxygen gas and a brown gas X is formed. 

https://dl.doubtnut.com/l/_epe5NnEaHv7h
https://dl.doubtnut.com/l/_afrkEAPJ9umj
https://dl.doubtnut.com/l/_No9fly2udaYu
https://dl.doubtnut.com/l/_GXJ5NzMnaY8W


What could be the pH range of aqueous solution of the gas X ?

View Text Solution

15. Can we stir silver nitrate solution with a copper spoon ? Why or why

not ? Support your answer with reason.

View Text Solution

16. Why a brown coating is formed on the rod when iron rod is kept

dipped in copper sulphate solution for sometime > What change will be

observed in the colour of the solution ?

View Text Solution

17. A green coating develops on the copper vessel in the rainy season.

Why ?

View Text Solution

https://dl.doubtnut.com/l/_GXJ5NzMnaY8W
https://dl.doubtnut.com/l/_TFy6yw1ed4kl
https://dl.doubtnut.com/l/_Lw53HyHBjVsv
https://dl.doubtnut.com/l/_OhzAPN5CJO48


18. Balance the following chemical equations : 

(i)  


(ii)  


(iii) 

View Text Solution

NaOH + H2SO4 → Na2SO4 + H2O

PbO + C → Pb + CO2

Fe2O3 + Al → Al2O3 + Fe + Heat

19. Write the balanced chemical equations for the following reaction : 

(i) Barium chloride + Potassium sulphate  Barium sulphate +

Potassium chloride 

(ii) Zinc + Silver nitrate  Ainc nitrate + Silver

View Text Solution

→

→

20. What is a balanced chemical equation ? Why should chemical

equations be balanced ?

View Text Solution

https://dl.doubtnut.com/l/_OhzAPN5CJO48
https://dl.doubtnut.com/l/_Xr4dWDb0S8pq
https://dl.doubtnut.com/l/_M0IpkA3wXvaG
https://dl.doubtnut.com/l/_unYD2Hbsu0JO


View Text Solution

21. Write the chemical equation of the reaction in which the following

changes have taken place : 

(i) Change in colour 

(ii) Change in temperature 

Formation of precipitate.

View Text Solution

https://dl.doubtnut.com/l/_unYD2Hbsu0JO
https://dl.doubtnut.com/l/_o7zEffhHeYKm

